FM6EE T7vFaT7dLT7KRKE HIEFTES
[ZFJ OXDE ] [ZFRyrDER]
0243868 (K) FHo Iy s aANT 5T
[=Civa K# g ouT 70X [=Civa K# g ouT IN [Z7oX|[wrq| %y b
1 [BB/R B E volvin 38 41 79 1 |Hz 5 EDEHGR 43 42 851 144 70.6
2 |%H AT HEGC 39 42 81 2 |BBR B E volvin 38 41 79 1.2 71.8
3 R A% EDBEGR 44 40 84 3 |HE &% EDEGR 44 40 841 12.0 72.0
4 |H= =E EDEGR 43 42 85 4 |4H BT HUEGC 39 42 81 8.4 12.6
5 = FMR G C 45 45 90 b |&E EEF EDEGR 50 49 99| 2b5.2 73.8
I = EDHGR 40 50 90 6 [=A FMR G C 45 45 90| 15.6 74.4
7 |BEH EEAC EDHGR 46 45 91 7 |&HFIE=E EDEGR 40 50 90| 15.6 14.4
8 |RBI ERF EDEGR 46 47 93 8 | =AW E=RF EDHGR 46 47 93 16.8 76.2
9 (M2 % BHIHGG 54 43 97 9 |[H&=* BHIHGG 54 43 971 204 76.6
10 |&B=% E=EF EDEGR 50 49 99 10 |[BE® =17 EDHEGR 50 51 101| 24.0 77.0
11 [MfE &3E HHGC 49 50 99 11 |JIS B E volvin 54 51 1051 27.6 17.4
12 |BE®H =17 EDEGR 50 51 101 12 |BsFH i EDHEGR 46 45 91 13.2 17.8
13 IS % E volvin 54 51 105 13 |#afE m3E #HmGC 49 50 99| 19.2 79.8
14 WRE &=E HIHGG 58 51 109 14 | =58 EDHEGR 60 54 114{ 30.0 84.0
15 |Ay E=fE EDHGR 60 54 114 15 |RE &= EIHGG 58 51 109 22.8 86.2
16 [%E Eir¥ E volvin 63 63 126 16 X% @Rt E volvin 63 63 126 36.0 90.0




